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SBI PO Preliminary Grand Test —-SPP-170463
HINTS & SOLUTIONS

This is the correct answer since this is what the whole
passage concentrates on. Note that there is no explicit
usage of word from the passage in this option- yet it
turns out to be correct.

This is the correct option since it is essentially a
restatement of the sentence above, which talks about
the restriction of self wish of the panchayats.

The dilemma in option (a) has not been discussed.
Further it is union-state dilemma. Option (b) is the
obvious answer since we are talking about at intra state
level. Option (c) is out of context. Option (d) is union-
state dilemma.

In option (1), There is nothing wrong in the.democratic
multi party system. Hence this cannot be the fatal flaw.
For option (2), the fatal flaw does not refer to the
mechanisms that the Union uses o deal with the state.
Option (3) is the correct answer, since the fatal flaw.is
the central idea of the entire passage--and this-option
correctly describes what the passage-describes. Option
(4) is too drastic to be considered.

The option is correct since the passage clearly talks
about the balancing of powers between parties at' the
centre and those at the state level.

Entrenched means (of an ‘attitude, habit, or belief) firmly
established and difficult or unlikely to change. So;
ingrained is the word which is similar in meaning torit:
Endowed means to provide with a quality, ability, fund
or asset. So, endued is the word which. is similar ‘in
meaning to it.

Encroachment means to influence strongly. So, intrusion
is the word which is similar in meaning tovit.

Wrest means forcibly pull (something) from.a person's
grasp hence abdicate is the word most:opposite in
meaning.

Enshrined means preserve (a right, tradition,.or idea) in
a form that ensures it will be protected and respected.
So, Desecrated is the word which is opposite in meaning
toit.

Change ‘to pay their employees’ with ‘to pay its
employees’ as subject is singular which should be
followed by singular verb.

Change ‘We have recently began’ with ‘We have recently
begun’ as Past participle take third form of verb.

Replace ‘arisen’ with ‘arose’

Replace ‘bound’ with ‘binding’

Replace ‘from’ with ‘with’

‘intentions, seize’ is the correct use.

Intention means a thing intended; an aim or plan.

Seize means take hold of suddenly and forcibly.
Significant - sufficiently great or important to be worthy
of attention; noteworthy,

Relationship - the way in which two or more people or
things are connected, or the state of being connected.
Portend - a sign or warning that a momentous or
calamitous event is likely to happen, interpret - explain
the meaning of (information or actions).

19.(1)

20.(5)

‘viewed, agenda’ is the correct use.
Agenda means a list of items to be discussed at a formal
meeting.
‘paradigm, benefit’ is the correct use.
Paradigmmeans a typical example or pattern of
something.
Benefitmeans an advantage or profit gained from
something.
22.(1)
24.(1)
Plural reflexive pronoun ‘themselves’ should be used for
the plural noun ‘farmers’.
If-the preposition ‘up’ were not there, ‘establish’ would
be the right answer. (set up=establish).
28.(2)
30.(2)
The pattern is :x3+1, x3+2, x3+3, x3+4
477x3+4=1435
The pattern.is : x7+1, x6+2, x5+3, x4+4.
22x6+2=134
The pattern is: x1+1x7, x2+2x6, x3+3%5, x4+4x4
38x3+3x5=129
The pattern is : (+2)-1, (+2)-1, (+2)-1, (+2)-1
142+2-1=70
The pattern is : x0.5+0.5, x1+1, x1.5+1.5, x2+2
9%x1+1=10
LV3Te — 111 = (15)% | ILV121y* + 6° = 260
21x% = 225+ 111 =336 = 11y%= 44
x*=16 y*=4
y =12
No relation between x & y

L17x+169— 114 = 15*
=17x=170
x=10

ILy=+2

x>y

1.17x =169+ 14+ 25 + 4x| 1.5y = 345 — 260
= 13x =208 ,_8 47
=>x=16 y=5-
sx<y
L6y2+> ="y 1L.12x* —10x+2 =0
=122 —T7y+1=0 =6x—-5x+1=0
=12y —44—3y+1=0 =26x2—3+2x+1=0
=4y(3y—1)—1@By—1) =0 =>§x22—3x1— 2x1+21=2 .
S@y-1Dly—1)=0 ﬁ_i(lx— )-1@2x-1) =
3’2

I4x2 — 49]IL9y2 — 66y +121=10

x=+2 |99*—33y—33y+121=0
T 3y@Ey—11D-113y—-11D =10
11 11

e —
¥ 3'3
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41.(1)

Total Distance
Averagespeed=————
Total time taken
12
2
= 6 km/hr

Average speed for hours 3%to 5" :2—32

Average speed for hours 2 to 4% = 22

Difference = 220 2 km/hr.

3 3 3
To cover equal distance every hour, the car must move
at its average speed for the overall journey.

Req. speed :3—56 =7.2km/hr

Average speed for hours 6th to 9th = % =7km/hr.

But, distance covered for 6th, 7th or 8th.-hour
individually is unknown. Hence the average speed of car
for hours 4th to 8th can not be calculated. Hence we
can’t determine the desired ratio.

72 72 .20

Required time = Tt 6g hrs.
7o 1083 3

—X

Total number of BoysinB = E>< 32500 x ¥ =2925
100 100

Total number of BoysinD = E>< 32500 S 6825
100 100

5 40

Total number of girlsin B = 1—x 32500x —=1950
100 100

Total number of girlsin D" = E>< 32500x% > 2275
100 100

Req. Ratio = (2925 + 6825):(1950 + 2275)
=9750:4225 =30:13
Req.% = 232500 155 _ g0y,
20x 32500
Total number of boys from university A,Cand E together
- 32500
100x100
15x40
Req.% = x100 =46.88 (approx.
4% =0 6 (approx.)

X

[12 x55 +8 x 30 + 17 x 20]'=4030

8x30 _4:3
28x75
P: 12

Q: 15>eo
R: 2073

According to condition, two hour work for P, Q, Ris (5 +
4)+(5+3) =17 units

Total time required = 17 x 3 + 9 units. After 6 hours, it is
again (P +Q)’s turn

=~ Total time required =6 + 1 =7 hrs.

Total time required to cover 3584 km = 2 days 8 hrs

258% _ 64 km/hr

Ratio =

Avg. speed for entire journey = .

As per given situation;

Remaining distance of 536 km has to be covered in 8 hrs.
i & 536

~ speed of remaining journey = T 67 kmph

Difference = 3 kmph more

4 RACE

Bagl | Bag2
3W, 2B | 2W, 4B
Probability (white ball if a ball and a bag is picked at

random)
3
5

’
15

:
20% mere
;fl'.ﬁ e 50% more than A passed

100 70 120 105
Appeared Passed Appeared passed

% pass in B:%E X 100 = 87.5%

1 12
=—X—F—x—=
2 2 6

6Mx12=8Wx 18 =18Cx 10

72M = 144W = 180C

4M=8W=10C.....(i)

Now 4M + 12W + 20C = 4M + 6M + 8M = 18M

Total days reqd. for 18 M to finish the work = e

T 4 days

In 2 days, they’ll complete %: the work.
Accordingto question

1I8MX2+xM x1=6Mx12

“x =36

5kg— 25%

& 1kg— 5% Newprice = 120 x 5% =Rs.6
For Original Price

75% —=Rs. 6

100%4% % 100 =Rs. 8

3008 10%%

Rs.100 Rs. 130 Rs 117
t +

17% overall profit
Square : Area =484 cm? » a=side=22 cm
Circle:2nr =22 X4+ r =14 cm

Area=mx 14 x14=616 cm?

Average cost per litre of petrol = % ~ Rs.7.98

7.5 a2 2.5

[Packet 1| |Packet 2]

Total Toffees: n n

Price each toffee: 5 paisa

CP: 5n

Total CP = % .

Zsn

= Gain % ==2; X 100 = 25%

1

1z

127 x8+6x4=1016 +24=1040
85+35x6.2+?=802
Or?=802-85-217 =500
8x£+i:512

4 256
24><4568X 100 ~

100 8x246
50x100 1
T x—=1

100 50
H < W =< M(true)
B >R > Z = K(true)

Total SP = 2n x— = 2222
12 12

T > H < W(false)
R = Z = K(false)




Grand Test — SPP 170463

68.(1)

69.(2)

70.(1)

71-75.

Plastic Glass

Vodafone

Vodafone Hutch

Silver Paper

Figure

Symbol

Figure

Symbaol

Person

Colour

Chanda Kochhar

Sky Blue

Arundhati Bhattacharya

Yellow

Shikha Sharma
Nita Ambani

| Blue
Purple

Naina Lal Kidwai
Usha Ananthsubramanian
Vijayalakshmi lyer

72.(1)

Red
Green
Pink

(Earth)  (Sun) (Mercury) (Pluto)
| | Il |

1 L)
C A

P Q
|

B D

S R

T T
{Jupiter] (Moon) (Mars) (Venus)

82.(5)

Person

84.(1)

Department

Customer support| Red

Colour

Account

Black

Customer support| Blue

Account

Pink

IT

Yellow

HR

Cream

IT

White

R(+)——N(-)

M(-) Al+)——0y+)

Y e
9.(1)

Doing away with cinema halls is no solution. Hence,
none of the course follows. Instead, certain incentives
and promotional schemes should be awarded to cinema
hall owners so that they could manage to draw in
crowds.

Airlines, being convenient and faster means of transport,
people would surely prefer it to the railways if there is a
marginal difference between the fares. Hence, a
considerable gap between the two fares is a must for the
railways. So, course | follows. Following course Il would

4 RACE

reduce the volume of passengers. Hence, Il does not
follow.

Clearly, prevention from mosquitoes and elimination of
mosquitoes are two ways to prevent malaria. So, both
the courses follow.

If statement Il is the cause and the statement | is its
effect. ;

The surge in complaints has let the banks to receive
them in an electronic mode.

If statement | is the cause and the statement Il is its
effect. ;

The shortage in production has led to the import
decision

A(-) H(+) Al-)=—=H(+)

B(-)—C(+)=—=F() OR  B(-)—g(+)=—=F(")

G(-) D(+) E(+) G()  D(+) E(+)
97.(1)




